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1 BEm BEm EER - & MIFT:REH B ZDith bty - = BRI Ge R1.12.3 R1.12.6 <5.52 <5.58 <11
2 BEm BEm EER - & MIFT:REH B ZDith bty - = BRI Ge R1.12.3 R1.12.6 <5.90 <5.06 <11
3 BEm BEm - - BE - 0T - BRRE R B ZDHt EIgLULM=IF ZEN = BRI Ge R1.12.3 R1.12.6 <5.37 <4.15 <10
4 BEm BEm - - BRFEEER: dLiEE B kol EIgLULM=IF ZEN = BRI Ge R1.12.3 R1.12.6 <6.74 <6.02 <13
5 wEm BEm EER - BEH e FEFESR ZDith BREERK - = BRI Ge R1.1210 | R1.12.12 <095 <0.82 <18
6 BEm BEm EER - & MIFT:REH B ZDith BHA - =BT RERT Ge R1.1210 | R1.12.12 <6.69 <6.68 <13
7 BEm BEm EER - & - MIFREET FRiER ZDith BHA - = BRI Ge R1.1210 | R1.12.12 <6.39 <5.59 <12
8 BEm BEm EER - & MIFR:EET B ZDith P - B TR Ge R1.1210 | R1.12.12 <474 <5.39 <10
9 BEm BEm EER - & MIFREET B ZDith P - B TR Ge R1.1210 | R1.12.12 <6.81 <6.02 <13
BEm BEm EER - & MIFTREH B ZDih EHA - B e TR Ge R1.1210 | R1.12.12 <3.82 <4.40 <82
BEm BEm EER - HiE-MIF:EETH B ZDith 35SV FRR - B e TR Ge R1.1210 | R1.12.12 <5.61 <4.14 <9.8
BEm BEm EER - HiE-MIF:EETH B ZDith bty - B e TR Ge R1.1216 | R1.12.17 <8.37 <6.01 <14
BEm BEm EER - & MIFR:EET B ZDith BN - B e TR Ge R1.1216 | R1.12.17 <7.23 <6.25 <13
BEm BEm EER - HiE-MIF:EETH B ZDith bty - B e TR Ge R1.1216 | R1.12.17 <8.56 <5.42 <14
BEm BEm EER - HiE-MIF:EETH B ZDith bty - B e MR Ge R1.1216 | R1.12.17 <6.26 <6.72 <13
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